b

SXY

X Y
( r=3Sx/S¢Sy)
1

(Y=a+bX)

NZX Y- (EX)EY)

Sy?

N(ZX?) - (X)?

<

x|




HO p =0
H1 p# O
0

r

sgrt((1L-rd)/(N-2))




0.60
5%
* stepl
t=0.60/sqrt( (1 - 0.602) / (66 - 2))
=0.60/sqgrt(0.64/64) =6

e step 2:
- 5% 64 t

I+
N

e step 3:




) Fr=¢C
eFisher Z
1.7 r Zr
c Zc
_ Zr-Zc
- 1/sqgrt(N - 3)
8
: 1 1
z2=(Zr- Zr,) I sqrt( N, -3 + N, -3 )

= Zrl, Zr2
= Nl’ N2

rn

rn

Z




XY, Z XY Oy

(Ixy=Txz) SQrt((N-3) (1 +r1y;))

SQrt( 2 (1 + 2 ry; Iy Iz = Fyz? - Ty? = Ixz?)

10

100
0.5,
0.25 0.1

5%

2.18 1.66
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-2 p(X,y)

2 12

¥i
1 1
) = S ppe XPE— (X-A)T DT (x-4)

¥

-X, Y

-X Y

-Y

- X (orY)
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Y =a+ bX
N
Y=b(X-X)+Y
SXY
Y
2
14
Y =B (X- 1)+ 1
Oy
'B XSD (A(Y O'X )

- o By XY
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- Hx My
i B
0 16
°B Y Hy
- XY
- B = pxy 0y/ O 0 Pxy=
* B=0 Pxy =0
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. 2
D=sqrt(Z (Yi-Yi)4N )

( 2
- X given Y 2
X Y
- 2 X
18
*(X,Y) 2
Y X

y Oy|x

Oy =sart( —— = (Yi- Vi )
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15
# 1 2 3 4 5 6 7 8 910 11 12 13 14 15
X 2 33555 6 6 6 7 7 7 7 810
Y 33 47 35 76 95 7 810 9 8
1.
2. B O 5%
3. Oy
4. X=6 Y
5. 4. Y 2
1. .
X, Y

X =5.8,Y =6.27, 5,2= 4.03, 5,2 = 5.13, S, = 3.39

- b=3.39/4.03=0.841
- a= 6.27-0.841*58=1.39
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pz 0

[ =Sy /SySy = 3.39 / sqrt(4.03 x 5.13) = 0.745

22

2.
13 (=15-2)
t
t=r/sqrt((1-r?)/(N-2))
=0.745/ sqrt(0.445 / 13) = 4.03
13 t 5% 2.16

B




23
. X
Y
# 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15
X 2 3 3 5 5 5 6 6 6 7 7 7 7 8 10
Yy . 3 3 4 7 3 5 7 6 9 5 7 8 10 9 8
Y 3.07 391 391 559 559 559 6.43 6.43 643 7.28 7.28 7.28 7.28 8.12 9.80
Error -0.07 -0.91 0.09 1.41 -2.59 -0.59 0.57 -0.43 2.57 -2.28 -0.28 0.72 2.72 0.88 -1.80
[
Gy = sart( ( 2 /(N-2)
= sqrt(34.21/ 13) = 1.62
4' 5 24
. X=6 Y 6.43
[ ]
[ ]
z=(2-0)/1.62=1.23
*1.23

0.10935
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P=1-0.10935x 2 =0.7813.

-X=6 78%
6.43+ 2

26




27

Y, =by+b; Xop+ ... +b, X5, + 6

Y, =by+b; X, + ... +b, X, + €,

28

y=Xb+e
lef?
lef?

b=(XTX)1XTy
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RZ

R Xy, oo X
o zo?mﬁ)2 . Z(Yi-\ﬁ)Z
S (Yi-Y)? S (Yi-Y)?
Y
30
1 N
Oyx =sart( N-p Z (Yi-Yi)?)
D bi +1)

a b

Oypx = Sqrt( ﬁ S (Yi-Yi)?)




31

#
X1
X2

1
2
1

4
3
2
Y 154 -6.68 3.14 0.08 -2.01 -4.33 -1.28 7.04

32

1.54
-6.68
3.14
0.08
-2.01
-4.33
-1.28
7.04

L T =T T Y R S SN

OO~ P 01 WO &N

P w N BN WO
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1 2 1
1 4 5
11111111 1 6 3
2 46 351 45 1 3 2
XTX= 1 5 4
153242 31 1 1 5
1 4 3
1 5 1
8 30 21
= | 30132 85
21 85 69
34
1
8 30 21 1.0167 -0.1539 -0.1199
(XTX)1=[30132 85 | = | -0.1539 0.0599 -0.0270
21 85 69 -0.1199 -0.0270 0.0842
- 1547
-6.68
111111117 314 -2.50
XTy=2 46 35145 0'08—1114
y= 201 | ~ :
15324231]| 433 -35.78
-1.28
_ 7.04 |




1.0167 -0.1539 -0.1199 || -2.50
b=(XTX)1XTy=|-0.1539 0.0599 -0.0270 || 11.14
-0.1199 -0.0270 0.0842 || -35.78

0.0328
= | 2.0184
-3.0149

b, =0.0328, b,=2.0184, b,=-3.0149

# 1 2 3 4 5 6 7 8
Y 154 -6.68 3.14 0.08 -2.01 -4.33 -1.28 7.04
Y 1.05 -6.97 3.1 0.06 -1.93 -3.98 -0.94 7.11
Error 049 0.29 0.04 0.02 -0.08 -0.35 -0.34 -0.07

D =0.267
Y 16.258
R?2= 1-0.2672/16.258 = 0.996
16.187

R?=16.187/ 16.258 = 0.996
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38

10
1023

127
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40
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- AIC, MDL

42

. (AIC: Akaike’s Information Criterion)
- Y
(KL-divergence)
AIC =-2 log L(Y|/é)+2p

© D> T

*AIC




AIC

43

D2

AIC’ =nlog (D?) +2m

44

X,=2X,




